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Part T Listening Comprehension (20 minutes) "

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each comwersation, a
question will be asked about what was said. Both the conversation and the question will be
spoken only once. Afier each question, there will be a pause. During the pause, you must
read the four choices marked A), B), C) and D), and decide which is the best answer.
Then mark the corresponding letter on the Answer Sheet with a single line through the centre .

Example: You will hear:

You will read:
A) At the office. B) In the waiting room.
C) At the airport. D) In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in the
evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best
answer. You should choose A) on the Answer Sheet and mark it with a single line through the centre.

Sample Answer FA- [B] [C] [D]

1. A) The woman is angry.

B) They are going to follow a friend of the woman’s.
C) The woman is unsure whether she should leave her friend there.
D) The man is trying to make friends with the woman.
2. A) Chef. B) Taxi driver.
C) Postman. "~ D) Milkman.
3. A) Traffic policewoman to driver. :
B) Employer to employee.
C) Shop assistant to customer.
D) Teacher to student.
4. A) In a workshop. B) At a farewell party.
C) In a kitchen. : D) In a department store.
5. A) The man is a successful writer. ' :

B) The woman is poking fun at the man.
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C) The man is making self-mockery.

D)- The books the man wrote were strongly criticized by the readers.
. A) Boast.

C) Enchantment.

. A) Mary has little money.

B) Mary is fat.
C) Mary likes new trousers.
D) Mary looks young.

B) They do everything they can for the party.

C) They know how to make contact with the woman’s others friends .

D) The party is a big success.

. A) Money.

C) Clothes.

10. A) The man will follow the regulations .

B) The woman offers to help the man.

B) Horror.
D) Disbelief.

. A) The people at the party are upset that the woman doesn’t show.

B) Map.
D) Water.

C) The woman doubts the feasibility of the man’s plan.

D) The man is the woman’s superior.

Section B

Directions: In this section, you will hear 3 passages. At the end of each passage, you will hear some
questions . Both the passage and the questions will be spoken only once. After you hear a
question , you must choose the best answer from the four choices marked A), B), C) and D).
Then mark the corresponding letter on the Answer Sheet with a single line through the center .

Questions 11 to 14 are based on the passage you have just heard.

11.

12.

13.

14,

A) Eat our vegetables.

B) Wash dishes.

C) Go to bed earlier than we wanted to.
D) Listen to their lectures.

A) To send him biscuits.

B) To have coffee with him.

C) To have a chat with him.

D) To pick him up to work.

A) To feed his dogs.

B) Because he has nothing else to do.

C) Because he wants her daughter to eat them.

D) Because he enjoys eating them.
A) He was angry. ’
B). He insisted that she should come.
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C) He took the biscuits to his daughter.
D) He ate the biscuits himself.
‘Questions 15 to 17 are based on the passage you have just heard.
15. A) Jewelry. B) Money.
C) Clothes. D) Car.
16. A) By bribing the shop assistants.
B) By paying for them with the bricks.

-

C) By mugging the passers-by.
D) By breaking the store window and taking them.

17. A) Greedy. B) Shrewd.

C) Impatient. D) Conceited.
Questions 18 to 20 are based on the passage you have just heard.
18. A) A salesman. : B) A writer.

C) A restaurant owner. D) A market owner.
19. A) In London. B) In Berlin.

C) In New York. D) In Parms.

20. A) To let him know that leaming is like building up a house.
B) To urge him to buy a big beautiful house like that.
C) To let him know that it’s no use to envy what others have and he should strive to get them by
himself.
D) To tell him that life is like a house in that the position you take is the most important.

Part I Reading Comprehension (20 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished
statements. For each of them there are four choices marked A), B), C) and D). You
should decide on the best choice and mark the corresponding letter on the Answer Sheet with a
single line through the center.

Questions 21 to 24 are based on the following passage:

Petroleum, like coal, is found in sedimentary rocks, and was probably formed from long-ago dead
living organisms. The rocks in which it is found are almost always of ocean origin and the petroleum-
forming organisms must have been ocean creatures rather than trees.

Instead of originating in accumulating woody matter, petroleum may be the product of the
accumulating fatty matter of ocean organisms such as plankton, the myriads of single-celled creatures that
float in the surface layers of the ocean. The fat of living organisms consists_of atom combinations that are
chiefly made up of carbon and hydrogen atoms. It does not take much in the way of chemical change to turn
that into petroleum. It is only necessary that the organisms settle down into the ooze underlymg shallow
arms of the ocean undecomposing and decay under conditions of oxygen shortage. Instead of decomposing,

the fat accumulates, trapped under further layers of ooze, undergoes minor rearrangements of atoms, and
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finally is petroleum.

Petroleum is of great use to us. It runs cars and trucks, drives locomotives and makes airplanes fly.
It pushes big ships across the ocean and thrusts rockets into space. - Petroleum is also used for making
thousands of other products, from daily necessities to products of industrial importance .

However, petroleum as it comes from the ground i is not yet ready for use. This is what we call “crude

oil”. The crude oil is only a raw material. It is a meturc of a number of hydmca.lbons which have different
structures and properties and uses. In order to use them, they must first be separated at a refinery.
21. Where can petroleum be found?

A) In long ago dead-living organ-isms

B) In woody maiter

C) In fatter matter of ocean creature

D) In sedimentary rocks
22. Which one of the following statements is true?

A) The fat of living organisms contain carbon and hydrogen atoms

B) The change from fat to petroleum doesn’t take a long time

C) The fat won’t decompose when there is a lack of oxygen

D) The fat accumulates when it’s trapped under layers of ooze
23. Which of the following is NOT among the use of petroleum?

A) Starts up vehicles '

B) Gives power to aircrafts

C) Reducing air pollution

D) Sends rockets
24. “Crude oil” .

Y comes from the ground
B) must be separated
C) can be found at a refinery
af) is mixed with hydrocarbons
Questions 25 to 29 are based on the following passage:

Computer and Iis Applications

Much hostility towards computers has been based on the fear of widespread unemployment resulting
from their introduction. One of the earliest examples of this was the buming of computer-operated looms by
the weavers of Lyons. Computers are often installed as part of automated production systems requiring a
minimum of operators, resulting in the loss of many jobs. This has happened, for example, in many
steelworks .

On the other hand, computers do create jobs. They are more skilled and better paid, though fewer in
number than those they replace. Many activities could not continue in their present form without
computers, no matter how many people were employed. Examples are the cheque clearing system of major
banks, and the weather forecasting system.

When a fim introduces computers, a few new people are usually employed in key posts (such as
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operations manager) while other staff are re-trained as operators, programmers and data preparation staff.
After the new system has settled down, people in non-computer jobs are not always replaced when they
leave, resulting in a decrease in the number of employees. This decrease is sometimes offset by a
substantial increase in the activity of the firm, resulting from the introduction of computers. The attitudes
of trade towards computers vary. There is fear of widespread unemployment, and of the takeover of many
jobs by computer-trained workers, making ;;r;)motiéh for older workers, not skilled in the use of computers,
more difficult. In early 1977, the British Transport and General Workers Union announced its intention to
close its own data processing department because ‘computers put people out of work’ .

On the other hand, many trade unionists see the drift towards computers as inevitable. They, féel that
their contribution to greater efficiency and productivity will improve the condition of the whole economy,
and lead to the creation of more jobs. This view was endorsed by the British Prime Minister, James
Callaghan, in January 1979, when he made the point that new tec ologles hol e key to increased
productivity, which will benefit the economy in the long run. (_(ﬂ;q& [ >9 57 zh 7 ’j z(i

There has been a recent drive by several trade umions to réc rul members from data process
personnel. A significant proportion of computer operators, programmers, systems analysts and data

processing managers are trade union members. /-

25. Weavers of Lyon’s burnt computer-operated looms becquse 2 6 %’/
A) computers were introduced to create jobs.
B) jobs related with computer are better paid 4# i {-/ ) 0” { /\ﬂlj
C) people are in fear of computers - (,U?/ b(’/ } ;Z 4

D) computers play a role in the increase in unemployment / M}
26. Which is among the jobs created by computers? » /é
i) the cheque clearing system of major banks Pwr ‘y k, 1% 7 m a 5,'{%
B) automated production systems - 2P
_2 steelworks JVJ ' y"%’ if, / F ‘%\_

D) data processing department of the British Transport and General Workers Union

27. Which is NOT among the attitudes towards computers? W
A) fear B loathingg ; /ﬁ:}}\- éf‘]ﬂ(
C) hostility %{J - D) acceptive 4{‘ ]
28. How do many trade unionists see the drift towards computer? C [40 n g/z w /f”
ﬁ) significant B) pessimistic !
RQ) unavoidable D) rapid
29. The passage mainly talks about ; 9
A) the application of computers in trades p\(‘,&’) Zz’ﬁ ﬁ%/
B) the hostility towards computers r
L) the impact of computers on employment and trade

D) the trade union’s measures with regard to the problems computers bring about
Questions-30 to 35 are based on the following passage: ;
Reading is the key to school success and, like any skill, it takes practice. A child learns to walk by
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racticing until he no longer has to think about how to put one foot in front of the other. A great athlete
ractices until he can play quickly, accurately, without thinking. Tennis players call that “being in the
ne.” Educators call it “automaticity” .

A child leams to read by sounding out the letters and decoding the words. With practice, he stumbles
jess and less, reading by the phrase. With automaticity, he doesn’t have to think about decoding the
words, so he can concentrate on the meaning of the text. ~
' It can begin as early as first grade. In a recent study of children in Illinois schools, Alan Rossman of

orthwestern University found automatic readers in the first grade who were reading almost three times as

t as the other children and scoring twice as high on comprehension tests. At fifth grade, the automatic
readers were reading twice as fast as the others, and still outscoring them on accuracy, comprehension and
biocabulary. '

“I's not 1. Q. but the amount of time a child spends reading that is the key to automaticity,”
: rding to Rossman. Any child who spends at least 3. 5 to 4 hours a week reading books, magazines or
newspapers will in all likelihood reach automaticity. At home, where the average child spends 25 hours a
Lweek waiching television, it can happen by turning off the set just one night in favor of reading.

You can test your child by giving him a paragraph or two to read aloud-something unfamiliar but

propriate to his age. If he reads aloud with expression, with a sense of the meaning of the sentences, he
probably is an automatic reader. If he reads haltingly, one word at a time, without expression or meaning,
he needs more practice.
‘30. The first paragraph tells us
., _A) what automaticity is
| ) .
| Eg how accuracy is acquired
f C) how a child learns to walk

D) how an athlete is trained 1 { )(,{' /y{
t [ M )
31. An automatic reader an J hat ,

A) sounds out the letters é%f, , 6 );/6(1 géﬂ £ W,
B) concentrates on the meaning
?) has a high 1. Q.
P- pays much attention to the structures of sentences
!32. e [llinois study shows that the automatic reader’s high speed
' A) costs him a lot of work
. .B) affects his comprehension
\ C) leads to his future success
' \D) doesn’t affect his comprehension
33. A bright child
A) also needs practice to be an automatic reader
B) always achieves great success in comprehension tests
C) becomes an automatic reader after learning how to read

D) is a bom automatic reader

CET4%81%48 6 |
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34. The paragraphs used to test the automaticity of your child should be
A) readable and interesting
B) a little bit above his level
C) full of dramatic expressions
D) new to him
35. The main idea of the passage is
A) how to score high on comprehension tests
y_) reading is the key to school success
C) how to test your child’s reading ability
\ly automaticity is important for efficient reading
Questions 36 to 40 are based on the following passage: mwy Wﬂ
A third of Britons are overweight, states a report published in January by the Royal College of
Physicians, the result of an 18-month-long study. About five per cent of children weigh too much, and are
likely to stay that way for life; in the mid-twenties aged population half are overweight.
Fat people risk severe health problems, says the report, including high blood pressure,
breathlessness, and various forms of heart disease. Smoking is particularly risky for overweight people.
The safest way to lose weight is to eat cereals, bread, fruit and vegetables, and cyt down on fatty
'meats, butter and sweet foods. Fat diets do far more harm than good; slimming machines that vibrate
muscles have not been proved useful; saunas merely remove a little body water, and health farms, says the
report, serve as expensive holidays.
'“:2 Exercise is most important to health, the report emphasizes; though it doesn’t necessarily reduce
ight; it maintains the correct proportion of body fat to body muscle. And it isn’t only for the young; from
middle age a minimum of 20 minutes of gentle physical jerks should be practiced three times a week .
The report advocates several public health measures to combat the high prevalence of overweight in
this country. They include an increase of tax on alcohol to reduce its increasing, and dangerously
fattening, consumption; and the provision of more sports facilities by local authorities. Britain’s doctors,
the report concludes, must leam to be more sympathetic and specific in their advice to the overweight,
encouraging a change in eating habits on a long-term basis, and takmg mt account the many-often
complex-reasons why fat people are fat. O,L,,f ('LX Z%% &,\% “; }'% % /4/%
36. The passage mainly talks about .
A) the cause of Briton’s overweight
B) how to avoid getting overweight
Briton’s overweight problem
D) The relations between overweight and health problem
37. According to the report, a person is most likely to stay fat for the whole of his life if he
A) gets fat in the twenties
B) gets fat in his middle age
C) is born fat
D) gets fat when he is a child

CET481%8 7]
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38. The report thinks that exercise

39. The report points out that drinking too much a_l_e’olxol : .
|

A) isa way to reduce weight

43) sometimes increase weight

C) is a sure way to keep one healthy

D) can convert fat to muscle 'W:ﬂ

—é‘ ) will also cause one to get fat
B) will cause one to do less sports
C) will make one forget the fact that he is fat
D) will lead one to bad eating habits
Britain’s doctors, when treating the overweight, should ;
A) encourage a long-term diet for everyone
B) be more consideérate and give detailed advice
.E_) first consider why so many people are fat
) do all the above

Part Vocabulary and Structuré (20 minutes)

' Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked

41,

- 42,

45.

43,

A), B), C) and D). Choose the ONE answer that best completes the sentente. Then,
mark the corresponding letter on the Answer Sheet with a single line through the center .

A child becomes an adult when he realizes he has a not only to be right but also to be
wrong. _

A) power B) tendency

L) right ' : D) habit

A friend is someone you can do nothing with, and it.

A) hate B) love

O om FEpRUEAL D) erio

Race prejudice is not only a shadow over the colored — it is a shadow over all of us, and the shadow
l\——_./ .

is darkest over those who feel it least and allow its evil _ to go on.
A) effects B) intentions

C) actions . . D) outcomes

eal courage is when you know you’re licked before you begin, but you begin and see it

through no matter what.

A) again B) still

C) yet D) anyway

Reading without reflecting is like eating without

A) sharing B) drinking

C) digesting D) absorbing

L T
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49,

50.

51.

52.

53.

54.

55.

36.

57.

. A holiday gives one a change to look backward and forward, to

C) clock /.% D) compass W 3/&1 : ‘
J Reputation is idle énd most . 1mposmon, oft got without and lost mthout
.dmmng WTM om0 B o e 20 1100 z\ﬁ@ }

' C) negative

. New opinions are always

are not already common . '
A) denied 7 @ B) scomed é"f‘al’ @ EZ %

!
4
F

Jedbtpn i % m 4heuif W ?;

oneself by an inner _____

A) watch B) pmgram

wrong

Yon 5 3471 D) awul 4 gl A 14

» and usually opposed, without any other reason but because they* L&

) suspected i D) ignored
R\e_a_gp_.n consmenc , never.

A) helps 5% EQ B) harmms
C) hurts D) deceives

He who gains a victory over other men is strong, but he who gains a victory over himself is all-

A) strong B) powerful

C) brave D) courageous

The world is a play that would not be worth seeing if we knew the .

A) plot %‘f‘( : B) content N

C) dialogue ' D) scene )}

You never know how many friends you have until you a place at the beach. /~"

A) have 1 B) rent

C) own Z@ éJ 3- D) like /[L s%/

Your body is the baggage you myst carry through life. The more dxcess baggage, the the
&, 1y |

A) better B) faster t{?‘

C) lighter D) shorter '

A college education should one to entertain three things: a friend, an idea and oneself.

A) provide B) prepare

C) equip 7{&)&' V‘j WD) lead
erel

Wrmkles s oul ere srmles have been.
A) mdlcati ‘{IE j W B) show
C) suggest D) remember

You ought to consider the ifs now and then. Thinking about if sometimes

pares, you
X})le:v.ith B) for PWYJ«VQ/\ (?;‘/’/{;{%ﬁm .
&) Dbefore D) through

you make peace with who you are, you’ll never be content with what you have.
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A) When ‘ B) After
C) Until D) K
58. % today s mow%, Bob Hope, * lf we took out all the bad language, we’d go back to
. silent films.” (, ‘UL}; ;} M 7{"/ é»—-? VJ,L
A) About
C) In D) With

59. “Why have you painted your car red on one side and blue on the other?” “So that if I bang
anyone, the wnnesses will have a marvelous time incourt contx tradicting each other!”

0L G fi b, LARTR
kiss  ayeil. \»ﬂ W‘j’ﬂ .

60. A compliment is something lik:

A) with B) under
&}' on ' Lyuough
61. You can discover what your enemy fears most "  observing the means he uses to frighten you.
A) after B) when _z-l “\,;
C) while %%m g{@ D) by ﬂ[ﬂ
62. It had been a weary day, I asked Emily to hold all telephone calls while I had a hap.
A) so - B) and
C) but D) although

63. A good scientist is a person with original ideas. A good engineer is a person who makes a design that

works with ____ ideas as possible.

A) as few original A
LB) as less original ﬁ TU\-@% /(r\_/% ﬁ@éf#‘?”f‘y T%Vﬁ
C) as little original
D) less original
64. A greater poverty than that caused by lack of money is the poverty of unawareness. Men and women
_____ the world unaware of the beauty, the goodness, the glones in it. }%
A) goonin ak/hVZk\/ l%ﬁn B)gothmugh %u

C) go over __) go about
a. libraries what have we? We have no past and no future.
A) Besides B) Except for
C) Without @ 7% 6% % D) Despite
66. Wives are like ﬁshexmen They brag about the one that and complain about the one they
- kept.
A) got off ' B) got away
C) got with ' D) got through

67. Worry is imagination
A) being misplaced
to be misplaced
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C) to misplace

D) misplaced
68. You know you’re getting old -you start riding a bike and your kids take the car.
A) as B) when

70. Quit’thinking that you must halt

fore the barrier of inner negativity.
—
through. we see a negative state, that is where we can destroy it.

C) whichever D) whatever \ ‘
2 firh A7
(20 mindtes)

Part IV Cloze

Directions : There are all together 20 blanks in the following passage. For each blank there are Jour choices
marked A), B), C) and D) You should choose the ONE that best fits into the passage.
Then mark the corresponding letter on the Answer Sheet with a single line through the centre .
A Stranger’s Gift
When a man named V. P. Menon first arrived 71  New Delhi, India, to seek a job in
government, all his w’ssions were _ 72 _ at the railroad station. He would have to return home on foot,
defeated. In _ 73 he tumed __74 _ an elderly Sikh, explained his troubles, and asked for a loan of 15
rupees (F L) to tide him 75 until he could get a job. The Sikh gave him the money. When Menon
{r asked for an address so he could 76 back the rupees, the Sikh wouldn’t give it. He said the help had
v come from a stranger and was to be repaid to a stranger. Menon never forgot that debt and eventually
eamed a 77 _for his charity (#§3). Some time ago I was in the Bombay airport at the baggage
counter, trying to reclaim my bags. But I had no Indian cugrency _ 78 , and the agent would not take a
traveler’s check. A stranger standing beside me paid my claim check fee — about 80 cents.
He then told me the story of Menon in refusing my 79 _to figure how to repay him. His father, he

explained, had been Menon’s assistant. From a nameless Sikh to an Indian civil servant to his assistant to
his son to me, a foreigner in a _ 80  of frustrating (4 AJH3EH) inconvenience. Though the gift was
not large, its spirit is above any value and makes me happy. §* I}, b\l"\&ﬂ¥ é\v aty @‘a p{lﬁi

71. A) on 92‘ at £) in D) to .
72. A) taken B) stolen C) robbed D). grabbed M
73. A) sorrow E) sadness C) loneliness _22 desperation%/q
74. Q to B) against C) for D) on
75. A) off _B) over C) around D) against
76. A) pay B) give C) return D) mail
77. A) name B) wealth L) reputation D) fortune
* X .
(R
CET4® 1% 11 7

C) since . D) because _ 2/\ ‘F %M
69. You never get over being a child, you have a mother to go to. &%6%6 & 'y
A) as far as B) unless , -
_Q) so long as , Wiﬁ& %% D) although A\’@/\_a’ ) ‘ﬁ(@& @kﬂ/&
ou need not. You can crash

K) v - B whenever é]i’ Z!j}zﬁ\?(/{s}%\}]{‘%@”é@q
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78. A) with _Bd) left C) on D) yet s

79. A) suggestion B) intention C) advice D) attemptzla
D —

80. A) moment : B) time Q_place D) second

“Finding the right doctor is not _ 81 ,” says the inimitable (il %F %) George Bums.
“Recommendations are a good start. __ 82 talk to your friends, preferably the ones who are still alive. __
83 you get the name of a doctor who sounds inter%ting., go to his office to __ 84 him out. Does he have
medical books on his shelf among the investment and real estate volumes? Does he have an aquarium (&
#iL) full of tropical fish? Are the fish alive? “Next _ 85 the patients in the waiting room. Do they look
better than the fish? Talk to the patients. See what they think of him. Find out if the doctor __ 86 house

-calls. If he does, send me his name. You should also think about whether you want an older doctor or a
younger one. The younger ones are very _ 87 and more radical (¥ ), upon all the new tricks. The
older doctors don’t need the new tricks. They’ve got an old trick 88 their sleeve. They know that 90
percent of your problems will cure themselves. _ 89 , I like an older doctor. And if he’s still alive, I
ask 90 his doctor is and go to him if he’s still alive.”

81. A) hard B) difficult L) easy D) simple
82.,@) So —%2' Then C) But D) And
83. A) When B) Once C) After 2) As soon as
84. A) ask lead C) take D) _check
85. A) look after ‘l;% ask C) look for 1) observe
86. A) have %; dial C) do .ll) make
87. A) strong young C) vivid D) energetic
88. _‘\‘) on B) uwp C) in D) under
89. % Frankly B) Luckily -C_)_ Personally D) Admittedly
90. A) where _.B/) who C) whoever D) wherever
® % =
Part V.  Writing (30 minutes)

Directions: For this part, you are allowed 30 minutes to write a composition on the topic: Are American
Athletes Overpaid? You should write at least 120 words based on the outline given below in

Chinese . Remember to write clearly . 2]
1. REEH A REMALRE? 2 q Y.
2. A AR R 2
You may begin the essay with the following statement :
American athletes have often been accused of being overpaid. For example, famous ballplayers sign
' contracts that guarantee them millions of dollars for one year’s work. They may earn additional millions for
product endorsement. -
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Part 1 Listening Comprehe‘nsion (20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Both the conversation and the question will be
spoken only once. Afier each question , there will be a pause. During the pause, you must
read the four choices marked A), B), C) and D), and decide which is the best answer.
Then mark the correspondiﬁg letter on the Answer Sheet with a single line through the centre .

Example: You will hear:

You will read:
A) At the office. B) In the waiting room.
C) At the airport. D) In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in the
evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best
answer. You should choose A) on the Answer Sheet and mark it with a single line through the centre.

Sample Answer FA] [B] [C] [D]

1. A) You should study too hard.

B) You should not study too hard. .
C) You must not study too hard.
D) You should study as hard as possible.
2. A) The success needs long-time efforts.
B) Rome was built in a long time.
C) You'd better go to Rome to play the piano.
D) You should not practice day and night.
3. A) Because cats and dogs will play together.
B) Because it will rain a little.
C) Because it will pour.
D) Because cats and dogs are afraid of rain.
4. A) like a cucumber
B) a bit cool and a bit exited
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